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General Instructions for the Examin€®® * "_._-‘-'1 ,\
(D Allmequasunnsarecmnpulsof)’ E-‘("’}
(2) Write the answers in the given answetmon]y
Section -
I. Read the passage given below and aiSwer the questions that follow : 6

ove the condition of the poor and people
he could, but always without using force.
ter of whatkind. When he tried to find

Gandhiji great aim in life was 103
suffering, and to aid people in 2 way
He was against every sort ofe '

out about the condition among
him by the hundreds. When
refused and in the court he explig

court to punish him
give in such a case, and so let ﬁfree

(i) Gandhiji was against:

(a) Non-violence 3;— (b) The poor and the rich

(d\ None of these

(c) All-evils
Gi) Gandhiji was ordered to lea the place by the :
(a) Police 2 (b) Magistrate
(c) People | (@ BritishLawyer

(iii) What was Gandhiji great aimin life?

(iv) When did the farm workers crowd around Gandmp‘?
(v) Find the word from the passage wmw ‘help’.
(vi) Find the word from the passage which site to ‘never’.

for breakl law. The court did notknow what verdict to

1
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ionin the people of two different
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H - i d Cpm
The difference in the ways of thinking 2" P"-’:iff I come imes, conflict

. Read the passage given below.nd ans

generations which results in bepayiou ™! -
among them is usuvally called géheralion ga : £
Generation gap is generally seen in the fami!Y “ﬁ"mm Mw
children. Itis not only because of the gap in 32°° 3‘“ iz “Yp;m .

react 10 a particular situation. Children beif® cl;y young and immature G0 ROt
understand the way of thinking of their parcﬂ“" DALY GAscE: thePa:ems, even
if they are matured do not empathize with th® changing value and thinking pattern
of the modern world. This create a communication gap between these two

generations. y -
Generation gap between parents and children 18 mosily caused by parents
themselves. They do nottalk openly to their childrenand donot take part in solving
their problems. This behaviour gives the impressiof about parents being authori-
tative persons, because they only dictate without understanding the problems
faced by their children. As a result, the childref become mentally isolated from
their parents. Some parents become so busY th their work that they don’t spend
quality time with their family, which makes (hém completely unaware of how their
children are growing, what kind of mcmal&g: being developed in them, and so -
ween ) 2

on. This ultimately creates a gap bet
To overcome this problem, parents shouldshow interest in all matters of their

children and deal them positively- GiVing time to the children, having open
communication. and allowing the child to feel free, will eventually reduce the
ent.

-
A

generation gap to a tolerable ext
(i) Whatis mainly discussed in their paragraph?
() Generation gap

1

(a) Modern world

(c) Children (d) Parents

(i) Most of the Parents don’tspend......0......... time with their family.
(a) Tree (b) Weekend
(c) Quality (d) Leisure

(iii) What is the generation gap‘?
(iv) Why is the generation gap there in the families? .
(v) Why are the parents responsible for the gap? T
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Develop a short paragraph withﬂ:e .
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$ ' Sectlon C
Fill in the blanksmﬂlmecmtectfo ms

(i) The pauenthaddledbeforethe
(il') The dOCLOT ..cvvvennenn- (ViSIL) the p2
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. Add question : Tag t

(ii) ;:.;Tum advised Jagan ...
' said (o Hari, “‘where do you jive?”

Rahul askeq ;
. Harl ;{555
Read the sentences . -orrect alternative - P
() Who......... carefully and ehoose the
i ssasviinanil "amwy{}n? -

(a) was gi\'en {b) was s'f\'iﬂl
1

Somebody ............ my watch.

(a) has stolen (b) is stolen

(c) stole " (@ has beenstolen 5
Choose the correct form of verb to ensure subiject verd concord. g
) BEveryOne.......... (waswere) asked @lswitch off their cell PhOnE:
(i) One of my friends .............. (i8/are) MM a trip to Goa-
Frame question to get the following mﬂﬂ} ; 7

e AnS. ; ) going o the bus-stand.

o the statement ivén below :
el SR

Section : B {'1'&3 K)
id answer the questions given below : 6

Read the following passage caret‘ulljfgiiﬁ
had been pleasantly

Tenth may downed bright and dear, Fonhq ast few days. 1

besieged by the dignitaries and Wﬁh&&'ﬁho were coming to pay (heir respecis
before the inauguration. The inatiguration Would be the 1argest gathering ever of
international leaders on South Afhmn soil,

The ceremonies took place in thelovely sandstone amphitheatre formed by Lhe
' had been the seat of white

Union Buildings in Pretoria. Hor decades this
supremacy, and now it was thesite of arainbow gathering of dif ferentcolours and

Q. Where .....cooceue-
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